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SA: 2AFAR
HH: SO0 AASX(EAH/EAYR)
cel: 58X XY #¥F M
. BN -3 Q) - ARAY - BAS - Ollarod
301 YA 9,300
06 212tI 221 0f 800
Ost&XtE QI2tel 2201t 800
07 2 BIEH Ol 8,500 8,500 0
o8l O 8,500
HESAAE 2Y 20,028 16,140 3,888
201 et 20,028 16,140 3,888
02 2B2gH| 20,028 16,140 3,888
OFAI|I| RXIb 2,400
OZMHOIXl |XHI 2,508
OSAZH ¥ PUHEAMY S 2,520
OZANHEEXSSAAH S| 12,600
MO I 19,260 0 19,260
401 A& H L4 19,260 0 19,260
01 Al &l 19,260 0 19,260
O&SC BA 3,960
OMIQHE X & XIZ A 11,200
ONASSHBEI HXBA 4,100
AHZAL Y o7 850,908 524,368 326,540
2 58,661
J| 210,933
< 581,314
2y ROITE U M SZA 127,808 77,348 50,460
202 01t 3,000 6,000 23,000
01 SLHOIHI 3,000 6,000 £3,000
oY ROINC AR XX 3,000
207 O] 40,548 37,548 3,000
03 AI8 2] 40,548 37,548 3,000
OAIS & IR 7Y 30,548
OAEFY 2Z1X & 42 10,000
405 RHAHH SHI 84,260 33,800 50,460
01 AL SEH SH| 84,260 33,800 50,460
QAANZLRIENEE)| 1Y 60,000
ongslIERI P 6,000
OASZZHFD 7Y 18,260
Hed 048 Solx 63,000 0 63,000
207 SR 63,000 0 63,000
03 AI8 & 2H 63,000 0 63,000
OAIS & IR 2 53,000
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SA:

EE

eel:

10,000

H A

20,000

10,000
10,000

43,000

A23,000

207 A S2IHE |

H H

20,000

10,000
10,000

24,771

24,771

03 AlE & Y|
OXAIS & IR +

H1 W

H

20,000
18,000
9,000
9,000
2,000
1,000
1,000

24,771

A4,771

H W

97,322

48,661
48,661

25,800

71,522

207 AN

H W

97,322

48,661
48,661

25,800

71,522

03 A& & H|
OXAI & DX P

H H

97,322
97,322

48,661
48,661

25,800

71,522

MEHAUS A84 UWERID 2¢ X (21)

27,000

13,500
13,500

27,000

202 04l

2,000

1,000
1,000

3,000

41,000

01 ol
OMEHY S 2 £

2,000
2,000

1,000
1,000

3,000

21,000

207 A2

25,000

12,500
12,500

24,000

1,000

03 AIE & 2HI
OTEAIS & I

OMZSHIZIUHHl HISE3 7Y

25,000

10,000
5,000
5,000

15,000
7,500
7,500

24,000

Il

31,220
15,610

31,220

- 1093 -




=
T

e

=t

D EAHEFAIE

SOIo AAYSA(2A/SAYZ)
EEJVTNE

SN BB OR(S) - NEAY - BES | ol R

207 S0 2l 31,220 31,220 0
I 15,610
< 15,610

03 A& & 2H| 31,220 31,220 0
O&I A & JXH 7 31,220
| 15,610
& 15,610

ANEAHBECHE 29H N (=2) 329,558 155,000 174,558
J| 131,823
T 197,735

201 LBty 31,000 38,000 A7,000
Il 12,400
o= 18,600

01 At 2¢eltl 3,000 3,000 0
oZgd XNYHE JHHH 29 3,000
D) 1,200
== 1,800

02 2322t 28,000 35,000 A7,000
©OBL3 HFAIHE 2 28,000
) 11,200
= 16,800

202 o4 dl 4,800 4,800 0
| 1,920
< 2,880

01 = | 4,800 4,800 0
ozgY XNIENHEFAUHLH 29 4,800
| 1,920
< 2,880

207 SO0 2| 101,758 75,743 26,015
| 40,703
= 61,055

03 Al& & 2H| 101,758 75,743 26,015
OXHAIY & I 7 90,000
| 36,000
=S 54,000
OaEEH M & el 11,758
I 4,703
< 7,055

401 AIEHIZL S O8I 192,000 0 192,000
I 76,800
& 115,200

01 Al Hl 192,000 0 192,000
©BL3 ¢ FAIE THEIE BAt 192,000
| 76,800
& 115,200
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G

M- B3 2(31) - NIFAY - B Y= ol arod e
SHERCHH XHEH S 125,000 165,000 240,000
50,000
75,000
405 XA SHI 125,000 165,000 240,000
50,000
75,000
01 AL ESHEHI 125,000 165,000 240,000
OREXF=EEH| 80,000
32,000
48,000
OANz=s=FI| 26,000
10,400
15,600
OANLEZHF D 19,000
7,600
11,400
SEE gdXso M 298 30,000 0 30,000
Ab
201 L Er2Z i 2,000 0 2,000
01 At &2ltl 2,000 0 2,000
O&=2E N 2,000
202 O bl 3,000 0 3,000
01 = O] 3,000 0 3,000
ORF& ol 3,000
207 SO0 25,000 0 25,000
03 Al& &l 25,000 0 25,000
OAM Z IR e 23,000
OAE&EH R3uH % 2,000
SYHRCH Y At ¢ 402,589 388,000 14,589
= 44,986
Il 66,845
< 290,758
=4 2849 G Y ASEMN 94,500 168,820 AT74,320
201 Er2YH| 1,500 1,500 0
01 At & 2lH| 1,500 1,500 0
OYBZAE D8 S 500
OYE T ALE W IHAIZ 1,000
202 o4 4| 6,000 7,000 A1,000
01 = Al 6,000 7,000 21,000
OZHM=+H & RFA 6,000
207 S 2oyl 36,000 36,000 0
03 A& & 2H| 36,000 36,000 0




SA: 2AHAADE
=gl

HH: Colo ALEA(PA/LAYR)
ol 2eMAC Y o8t oin CrRE
o i g ‘ E T
SA-ZE . o9(30) - HEAY - BES olarey s HIREZ |
CEENEFERECE N %.00]
OCAEZEH £SuHM & 2l 10,000
405 XHaHH SHI 51,000 120,000 A69,000
01 &t ESHSHI 51,000 120,000 A69,000
OUSY AIYEZ WD 2 12,000
OF=+HMEEX(1X X 3%) 7 13,000
OANEs=I F#E 26,000
SOl A0 2eY 2AY 2L€(=31) 23,300 36,000 212,700
J| 11,650
& 11,650
207 & O] 23,300 22,341 959
| 11,650
= 11,650
03 AI& & 2] 23,300 22,341 959
O&EAIE & IR e 21,300
| 10,650
< 10,650
OAEEH EZLAH £ =2 2,000
| 1,000
T 1,000
HOIX ¥ &Y Msa HEH(2D) 31,700 0 31,700
J| 15,850
== 15,850
201 Let2dy| 600 0 600
J| 300
= 300
01 AtR222/Hl 600 0 600
OHIV & IRt DK 300
| 150
< 150
OAHLAE S 300
J| 150
& 150
202 O4d| 1,500 0 1,500
| 750
= 750
01 S A I 1,500 0 1,500
© FA2E g2FA 0| 1,500
J| 750
o= 750
207 &1 RN L HI 29,600 0 29,600
p) 14,800
=S 14,800
03 AI& & 12l 29,600 0 29,600
oA & IR P 27,600
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BA: 2HE83dHA2
&gl

3 19 AASX(EAH/BHAZ)
B9l 2g88ag & o5 o0 (EER-ED
BA I E(S) - NSAY - Bas | ola S0 . HEEZ
T — — "J:u' - — 13,80 |
T 13,800
OAEAH 2FEUAM L £2l 2,000
Il 1,000
= 1,000
LS ZHI0I2A TS 20t A8a 2AY 2E(=2D) 28,588 28,588 0
Jl 8,588
= 20,000
207 ARG I 28,588 27,988 600
Il 8,588
== 20,000
03 A& A | 28,588 27,988 600
OAN & JIX 2 27,588
Jl 8,288
& 19,300
OAEZAH 2EuAM L 2| 1,000
| 300
T 700
Z8 oI HEZ0 ZAH(=212) 61,515 0 61,515
Jl 30,757
& 30,758
207 S IH I 61,515 0 61,515
Jl 30,757
T 30,758
03 A& A 2H| 61,515 0 61,515
OA & JIXN 2L 60,515
Jl 30,257
& 30,258
OAEZEH 2EnA L =2 1,000
| 500
== 500
SMH LHEdZ ZAIER(=1) 44,986 0 44,986
= 44,986
201 82| 6,016 0 6,016
= 6,016
01 At &2l bl 6,016 0 6,016
ORre=E ¥ MatXelbl 2,650
= 2,650
ogetaeil ¥ a2 3,366
= 3,366
202 ¢4 4l 2,100 0 2,100
= 2,100
01 = LHAOHI 2,100 0 2,100
O&M &=H & 2,100
= 2,100
207 A2 36,870 0 36,870
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SN EASANDE
. Tl HASI(EH/B2HYYE)
Cel: AW X A o7 (29 a8)
= X zH . OOl (B CHEALS . HAE Fou HAEAGE - =

-

03 AIE & 12| 36,870 0 36,870
OAI% % IT R 3,670
= 36,870

SHSZUIE IMXZY 29 97,000 0 97,000

201 B2 A | 3,000 0 3,000

01 At 22/l 3,000 0 3,000
OEHEZAXAL 2EEE 7Y 3,000

202 04 4l 30,000 0 30,000

01 SUHALI 30,000 0 30,000
OEEZAXE E&0HI 30,000

207 SO0 64,000 0 64,000

03 Al & 1l 64,000 0 64,000
QA & JIXI 2 60,000
O4EZH RZud ¢ 2ol 4,000

S XISt S AZ2HSEHI0I2d A QL AIERT A 21,000 0 21,000

202 G4 Hi 1,000 0 1,000

01 = LHOIHI 1,000 0 1,000
OXicte == Gl 1,000

207 A 2IH 20,000 0 20,000

03 AIE & 12l 20,000 0 20,000
O& A & JIX e 20,000

AEE o8y A 185,194 444,132 A288,938
= 43,840
< 111,354

AZONMA Y SAlS A 67,514 206,452 138,938

201 LBt | 5,000 12,000 A7,000

01 At &2/H| 5,000 12,000 27,000
O=FJIJ dud 2 MRES 7Y S 5,000

202 044l 8,000 8,000 0

01 = A 8,000 8,000 0
O4E S ATLEEMN FRFT 8,000

207 A 2OHE | 47,714 43,283 4,431

03 AlE 11| 47,714 43,283 4,431
OaZEH Al 2 I 2 25,000
Os+4E8 LYASSTAMN EELHE 1Y S 5,000
O4EZEH FELM & =2 17,714

405 XHAHH S 6,800 125,000 A118,200

01 It EEHEHI 6,800 125,000 118,200
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2N BEHEZAZRE
FH: 0o HASI(BA/EHAR)
@R ABS HEM A (9 )
g x;—w ol(5 = ALOf . TH 5 . 'Vou—, . 44 & | =}
e b | " ChaE —
QAZZN 222HEN “SWH 2,000
OZY=sFI A 4,800
AlO|OFEOIM A AHAI HHIEE(=1) 70,000 200,000 130,000
= 35,000
== 35,000
405 XHakE SH| 70,000 200,000 130,000
= 35,000
T 35,000
01 THAHL EEFH S| 70,000 200,000 A 130,000
OIIIAZIZ0IE D2 Z(GC) 70,000
= 35,000
= 35,000
AL sAE 2A2(=1) 17,680 17,680 0
= 8,840
& 8,840
207 A P2l 17,680 17,680 0
= 8,840
= 8,840
03 AIE I 17,680 17,680 0
OA & JIXN 2 17,680
= 8,840
== 8,840
DIME otME ZAM 202,760 405,425 N 202,665
= 32,060
Xl 26,111
& 144,589
OIME &0l Rch L 1A JEHAM 96,500 95,935 565
201 82| 1,500 2,760 21,260
01 At Z2( 8l 1,500 2,760 21,260
SHUEAH X S 1,500
202 O i 5,000 3,000 2,000
01 S LHAHI 5,000 3,000 2,000
OLIME EHQIXH M T AL - 5,000
207 00| 70,000 60,000 10,000
03 AI& 1| 70,000 60,000 10,000
OASF & JIXM 2 65,000
O&EHRH BSLAH ¥ 22l 5,000
405 XHoHE SH| 20,000 15,000 5,000
01 AL EEHSHI 20,000 15,000 5,000
OXSs| &) 2 14,000
oLEIAN P 6,000
AEEFZ AN A (H20], o1AHd])(=10) 63,157 0 63, 157
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ik

HYM: 0o ALSI(BAH/BHZ)
CHel: DIME OFE A IAb (CER-E))
SA -3 G(3H) - NEANY - BYS o [ - Sho Hms2
S s , i >
[ 37,894
202 01 H 5,000 0 5,000
= 2,000
[= 3,000
01 2O b 5,000 0 5,000
OAZEER ZHANY Y2ET 5,000
= 2,000
[ 3,000
207 o1 RN 58, 157 0 58, 157
= 23,263
= 34,894
03 Al& ot 58, 157 0 58, 157
OAIS Y XK P 54,000
= 21,600
T 32,400
OABEY SEZnH ¥ 22 4,157
= 1,663
[ 2,494
SHEes orde|(2D) 2,111 30,340 £4,229
N 26,111
207 S0 | 26,111 12,111 14,000
N 26,111
03 Al& ot | 26,111 12,111 14,000
OAIS L JIXHH P 26,111
X 26,111
C2HI0IMA ZAF X (THSHI)(2D) 16,992 0 16,992
= 6,797
= 10,195
207 o RO | 16,992 0 16,992
= 6,797
T 10,195
03 Al& ol 16,992 0 16,992
OAISE Y JIX P 16,000
= 6,400
[= 9,600
OAE Y FEDH L 22| 992
= 397
= 595
HES OLFEA A 197,460 80,000 117,460
O|OtZE OLFE A A 90,000 80,000 10,000
201 Y2 Y| 2,500 8,000 A5,500
01 At 22 2,500 8,000 A5,500
OYAH SS/A HII(GC-ECD) S 2,500
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SN 2ABAATL
A T0I9 AASA(2A/EAYE)

CHol: OjOrES OFA A (el @g)
. RAH 3. G9(E) - NRA -E’é‘%_-l e Sia | un=e

L M = ‘ o : e ; el ]| _— ]

INEXT 6,000 6.000 0

01 ZUHoTH 6,000 6,000 0
Oo%AE UMHEA SRZEH 6,000

207 1 RIf Ll 31,500 19,000 12,500

03 AlE &2t 31,500 19,000 12,500
A2 L JIXHH 7 18,000
OMBEH SEDM ¥ 22 13,500

405 THaH3 S| 50,000 40,000 10,000

01 HArLE2EH S| 50,000 40,000 10,000
o=E2t20IE 7Y 50,000

SHEH HET RK 2D 107,460 0 107,460

201 B2 | 107,460 0 107,460

01 AL 22!t 107,460 0 107,460
o224 &Yl duH 107,460

SHO AE Y 2F OHF HE 330,099 327,113 2,986

A 29 2l 104,330 124,131 219,801

201 et A H| 97,630 97,431 199

01 At 22l H| 27,120 26,921 199

OFASY AR 27,120 '

02 E=229H| 70,510 70,510 0
OHAEY HAM2D2 55,320
oBEXY KX 12,140
OHAAI SR S| 1,850
oBASY X 1,200

202 04H| 1,900 1,900 0

NIERET 1,900 1,900 0
OHASY YSEA 0| 1,900

204 MDA A 4,800 4,800 0

FEEEEET] 4,800 4,800 0
oIS 50,0008 *8% * 128 4,800

NES otES A 35, 131 65,382 £30,251

202 OfH 1,000 1,000 0

RETET 1,000 1,000 0
OAE S Otds HA 2RET 1,000

207 A2l 34,131 50, 100 215,969

N EET 34, 131 50,100 A15,969
OAS L JITH 7 34,131

=SS OHEA AN 171,748 137,600 34,148
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SN 2ASARY
M Colo AYSH(LA/BAYR
Soloh AE U 23 oF &5

)

cte: (Sl &)
S -BH-SR(E0) - NSNS - BaS of &t N - H@EY

11T 202 Ol } ) 8,@ 8,000 0

01 S LHOIbI 8,000 8,000 0
OHE= S ATY M EFA 8,000

207 A FIH | 43,748 29,600 14,148

03 A&l 3 H| 43,748 29,600 14,148
OAl% & IR 7E 37,748
O&dEFH FEuM & +cl 6,000

405 XtatE SHI 120,000 100,000 20,000

01 AL ESHSEH 120,000 100,000 20,000
o=EXSEAI FY 120,000

SHEEE A+MEY A== ATY HEE 9 18,890 0 18,890

3 2UHY

201 LeH2 Y| 1,000 0 1,000

01 AtR22|H| 1,000 0 1,000
OMRES F¥ 1,000

202 044l 2,890 0 2,890

01 SLHOiHI 2,890 0 2,890
OEXEZXZA & AEH 2,890

207 AN 15,000 0 15,000

03 Alg A 2 H| 15,000 0 15,000
QA & IR 2e 15,000

Neisz BE(HIBS/BP oY) 1,131,785 1,462,812 A331,027
= 217,000
= 914,785

otd 2 SaAs 3 BH 169,000 264,190 205,190
= 67,000
S 102,000

St & Sas I 22 31,000 51,893 A20,893

201 L2 Y| 1,000 0 1,000

01 At222l 1,000 0 1,000
O3 AAFI HE3d S| 600
OARHIE & TA FEH| 400

202 Ol 15,000 12,000 3,000

01 =LHOIHI 15,000 12,000 3,000
Ostd S I 2c| YRFA 15,000

207 AN | 15,000 11,000 4,000

03 Al&l e 2 H| 15,000 11,000 4,000
OAN & JIXHM +& 10,000
OaE 3 FELH & *2l 5,000
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=
L

e

el 5

TNogd SE(gE5/8Z2sdht)
ot ¥ SAae =2 EA (S ®E)
SA - B - E9I(E) - MFAY - BaS o & e HRE
SHE0F NEB A I A HEd JBRSA(E 134,000 140,000 26,000
4)(23)
= 67,000
== 67,000
201 ¢ B2 24,000 24,000 0
= 12,000
[ 12,000
01 At 2telH] 24,000 24,000 0
OZM=8T ANEEAN =5 10,000
= 5,000
== 5,000
OA® ZHl wFEH A 8,500
= 4,250
= 4,250
oFTZe WE E#H| 1,500
= 750
< 750
(OFSPAPSE= = 4,000
= 2,000
[ 2,000
202 o4 Hl 25,000 19,440 5,560
= 12,500
=S 12,500
01 S Y] 20,000 19,440 560
OEZZ20F ZHIIERRE HRFA 20,000
= 10,000
= 10,000
03 =220 5,000 0 5,000
oFT e He YRFX 5,000
= 2,500
= 2,500
207 S 2 EHH| 85,000 54,825 30,175
= 42,500
== 42,500
03 Al& &2l 85,000 54,825 30,175
OAS & JIXH 2 50,000
= 25,000
= 25,000
OAE&EHl #cl ¥ |XH| 35,000
= 17,500
= 17,500
U7 O BIHXIT EEHE FUTA(FINER) 4,000 22,297 ~18,297
202 O Hl 2,000 5,000 43,000
01 2 LHOIH| 2,000 5,000 £3,000
OFEE FLZA 23 HRFZH 2,000
207 & 2O E2HH 2,000 5,000 £3,000
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=

SA: 2ASADY
FH: NGEd 22 (232S/832528
Sel: Bt o BAL $F 23X (el @8)
. a o B
S - B S(3) - HTAY - B2 of vl 500 | iaze2
ICEEEED 2,000 " 5,000 £3,000]
OA2t & DX +¢ 2,000
HeEsS odNg 22 49,816 114,267 264,451
Hes oY M K Jls XY 49,816 114,267 A64,451
201 2| 500 500 0
01 At 22|l 500 500 0
OMREE 7Y 500
202 Of H 5,000 5,000 0
01 =LHOIHI 5,000 5,000 0
OUEE AHM TA YRET 5,000
207 7 IH | 44,316 39,000 5,316
03 Alg & 3H 44,316 39,000 5,316
OA% & I +¢ 8,316
O4EdH FEuM & 2 8,000
OJASEE&Y 28E a7 28,000
Holed 28t 28,378 59,084 230,706
OIHE 2 2AHBA 28,378 59,084 230,706
202 Ol 18,000 18,000 0
01 =LHO I 18,000 18,000 0
OIS HA § RFA 18,000
207 AT 10,378 9,821 557
03 AIE 32| 10,378 9,821 557
QA% & IR 2 7,000
O=3dzH FSuUAN & +2l 3,378
Gl &ot &el 551,500 705,416 A153,916
= 150,000
< 401,500
WoIIEdd=29 228,000 190,916 37,084
201 &Bt2gH 173,000 142,326 30,674
01 AbR22l b 45,800 20,400 25,400
OAH, S& & CIOIEHIONL Z2 8 JHet 32,000
o= =S T2 I 12,000
OUJIZE EIt BN &2t 1,800
02 3S2&H| 127,200 121,926 5,274
OWIILESEY RIE+H| 72,000
OUIILSE =Y FEALEY FXNES 31,200
OWIILEEZIY HIIRS 20,160
OWIIL2EEZY HE3H MEE 1,560
OUIILSEIEN EXAHIA 1,200
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SN 2SI
HIY: YEH SE(SBIES/FES U
Ctel: THOIE oE =2l (2l :EE)
- e
Ty CF-A(QI}II) A=A - lwe ol arot S HBREZ
@”*EHJIE*"’“ | % Sot z&g| 1,080
202 o4 HI 10,000 10,000 0
01 =WHObI 10,000 10,000 0
OUIILEEXEY 24 g2 =& 10,000
207 S RIH | 39,000 38,590 410
03 AIE A FH| 39,000 38,590 410
OAS & IR 2 19,000
O=FZ&H EEuAM & =¢cl 20,000
405 XHA&HE S HI 6,000 0 6,000
01 AIMEESHE| 6,000 0 6,000
OAEZHN AAE A HH 2L 6,000
AUZI|E BA 23,500 19,500 4,000
202 04 HJ 8,000 8,000 0
01 =2WHA I 8,000 8,000 0
OAUBIIE HAI 252 8,000
207 o4 6,500 6,500 0
03 A& & 2H| 6,500 6,500 0
OAS & JIXN e 4,000
OEX&H LM ¥ =2l 2,500
405 XHAHE S| 9,000 0 9,000
01 XML ESH S| 9,000 0 9,000
OAUNZEIIE =HZH|I(PM-10) 2 9,000
ey =3z 2x2H(=210) 300,000 495,000 A 195,000
2 150,000
T 150,000
405 X+obE S 300,000 495,000 195,000
= 150,000
& 150,000
01 N ESEFSHI 300,000 495,000 195,000
OUIILY=FFHI(H) 300,000
= 150,000
== 150,000
MEHEH A 43,325 102,375 259,050
EHDIMZE HA 28,525 38,575 210,050
202 (4 HI 1,500 1,500 0
01 20| 1,500 1,500 0
OEZDIME 2A RFA 1,500
207 A FI0H | 27,025 26,308 717
03 A& & 3| 27,025 26,308 717
OANS & IR 2L 27,025
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=
B

: Ej'lg-igm_—rl.,,lo
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